COT 3100 Spring 2005 Set Problems 2/7/05

1. If A ( B, then (A ( C) ( (A ( B).

2. If B = (A ( B), then B ( A.

3. If (A ( B) ( (C ( D), then ((A ( C) ( (A ( D) (  (B ( C) ( (B ( D))

4. If A ( B = (, then B ( (A.

5. If A x B ( A x C, then B ( C.

6. If A ( B, prove that (C ( B) ( A = (.

7. Let A, B, and C be any three sets.  Prove the following:

    (C ( (A ( B)) ( (B ( C) ( (A ( C) = C.

8. Let A, B and C denote sets and suppose that A ( B ( C and A ( C is false, (A is NOT a subset of C). Prove or disprove that A ( B ((. 

9. Let A, B, and C denote 3 sets.  Prove that if A ( C = B ( C and A ( C = B ( C, then A = B.  (Hint: Let x ( A, then x ( A ( C is true.)

10. Prove that A – (B – C) ( (A – B) (C.










